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H1 sensing function measurement: 2019-07-03

1.14e+403
1.12e+03

(ct/m)

¢ meas.

- model (fit range [5, 5000] Hz)

10t

He

102

= 4.09560015° (mA/pm)

103

/|

P
JARNARER}

- model (fit range [5, 5000] Hz)
$ meas.

T

10t

T T T T T

102
Frequency (Hz)

|meas./model|

Phase diff. (meas./model)

Frequency (Hz)

fee = 415770788 Hz, 7 = 3.4370438 s
1.10 7777
[l
1.05 4
TN
&
1o 34 i_..,.,.mglﬂim‘ 4
'*.____
0.95
0.90
10! 102 103
fs = 15242755122 Hz Q, = 36.657372
4
2
) 1@ 2
0 4 o-1*%es P00 1
H ARt i
-2
-4 ‘_:ﬂ
10! 102 103



